g ﬁ @ é Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
1,383 x 1000 = 7,002 x 10 =
6,377 x 10 = 10, 648 x 1000 =
6,207 x 1000000 = 7,491 x 1000 =
8,54 x 100 = 7,136 x 1000 =
5, 109 x 1000 = 3,699 x 1000 =
4,707 x 1000000 = 7,216 x 100000 =
6,651 x 10000 = 1,098 x 1000 =
6,284 x 100 = 7,349 x 1000 =
8,771 x 100000 = 9,626 x 1000 =
10, 71 x 100000 = 7,936 x 1000 =
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g fb @ é Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
1,383 x 1000 = 1383 7,002 x 10 = 70.02
6,377 x 10 = 63.77 10, 648 x 1000 = 10648
6,207 x 1000000 = 6207000 7,491 x 1000 = 7491
8,54 x 100 = 854 7,136 x 1000 = 7136
5,109 x 1000 = 5109 3,699 x 1000 = 3699
4,707 x 1000000 = 4707000 7,216 x 100000 = 721600
6,651 x 10000 = 66510 1, 098 x 1000 = 1098
6,284 x 100 = 628.4 7,349 x 1000 = 7349
8,771 x 100000 = 877100 9,626 x 1000 = 9626
10, 71 x 100000 = 1071000 7,936 x 1000 = 7936
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